HI%NI&M%%"HIA—I

20158 & =04k LBHSIH MSAIE 2Ll AR

FA MSAEZEARA
o AQSSYAUR(LUBIYT /A HT)
S9l: RLIMSUE el (e9: & 9)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
HMEAE22IMEL 521,089 482,636 38,453
ANl 2sd2e (L3 SdE /L) 219,994 188,118 31,876
=0 sHYH 2l 80,645 77,463 3,182
IOUXNSHEH Ald 22 74,645 71,463 3,182
101 @124l 8,036 7,503 533
04 D12t 22 HEE = 8,036 7,503 533
O=8XN=sdH 33
44,640 * 3H * 60 8,036
201 Let2d] 56,609 63,960 AT,351
02 2324gHl 56,609 63,960 AT,351
Og=x=4 d2=I |RX2cl
3,000,000 = 1CH 3,000
Ogaldloled sXel 1,000,000& = 1CH 1,000
OR=20| & |FX 22
200,000 * 50H A 1,000
O&IIANE 23 0H 2,000,000& * 14l 2,000
OJIA, 4] tH2w A 2,000,000 * 14 2,000
Od&e, s&&d 3 1A 500,0008 » 55 2,500
OAd=2 EJIEA =2 1,000,000& * 23] 2,000
OMd== &#E& 500,000& = 1H + 23] 1,000
QUL ) HEHI(ZR)
1,679& = 704 = 8Al2t » 35 32,909
O2ge A =2 100,000& » 12/ 100
OMz==x =ZHHAN =8 100,000& * 13l 100
Ode 2 FIIEE & E=
2,000,000& * 20K 4,000
OdlH A5 &4 200,000& * 53 1,000
OCCTV & =Xl 2t 1,000,000& * 200 A& 2,000
OxZAIZ4H KX 22 2,000,000 * 14 2,000
405 TtatF S 10,000 0 10,000
01 AL EFSFHSHI 10,000 0 10,000
OUsISS(AAL, SN, XL S) 7
2,500,000& * 44l 10,000
HENSZ A& 22 6,000 6,000 0
201 L2l 6,000 6,000 0
02 =224l 6,000 6,000 0
O&IIANE RANE= 2,000,000& * 14 2,000
OJIA, &dlti2 |sX2el 500,000& * 2042 1,000
OH=EZE FX2el 3,000,000 = 14 3,000
M= AlE2tel 139,349 110,655 28,694
ANl2sE e 75,122 76,618 A 1,496
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 75,122 76,618 A 1,496
01 At 22l 5,812 7,318 A 1,506
Oo&ZAIE = & 5003 » 200& * 63 600
OozxaagEs ¢ 10,000& = 128 * 4004 480
OoOMrgIIEEMN=E 7
1,400 = 600 » 230 1,932
O UHOIH X2 Hix+2
100,000& = 2CH = 12& 2,400
OZdHoIH EIBA =5
150,000& * 20K 300
ONACHEHA =2 100,000& * 13l 100
02 2324gl 69,310 69,300 10
OLgAlE SSHELEZ  1,000,0003 * 502 5,000
O2AE ZASIIsEZ 1,000,000& » 54 5,000
OdelHoleH sXael 1,000,000& * 14 1,000
OFZJ|& d&s 28 WA 500,0008 * 55 2,500
O&JI&Hl 23 uA 100,000& * 208 2,000
O4d3i & s X2el 1,000,000& * 14l 1,000
Odstt] A2l 1,200& = 2,900kg * 6 20,880
Odda=a B9 AZHI(AUER)
1,313& = 2,500¢ 48 13,130
O HEY DSXHI| S22
1,000,000& * 14 1,000
o&C&I - H2I & sX 2L
200,000& = 5& 1,000
OFZ4 AMAT L HFB2
4,500,000& = 23l 9,000
O2sd = s 2HIJ &
2,000,000& * 32l 6,000
OLgAIZ&H RA22 1,000,000& * 14l 1,000
Ost&Ea F=Hiat 2| 200,000& * 44l 800
METSA L2 64,227 34,037 30,190
101 124l 11,607 10,837 770
4 JI2ZtHZ22HEE = 11,607 10,837 770
OdENs2 33Tl 44,6408 ~ 2 * 502 4,464
OFFIFFH SAFY)
44,6403 + 2% = 50 4,464
OMEs3d % Jt2s e dul
44,6403 * 2% x 30 2,679
201 Let249] 29,900 6,480 23,420
01 At 22l 1,200 0 1,200
OFIItE 2R =2 (2IMII )
100,000& * 122 1,200
02 =24l 28,700 6,480 22,220
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S E () - ARAMY - BAS Ol &4 e 2
OdENsa M4 X2+
1,500,000& * 23] 3,000
QdEM=s2 JIH, SHth2 RS+
1,000,000& * 14l 1,000
O&¥stx E4 12,000& * 40m’ 480
OANEI2ESE A== A 22
2,000,000& * 14 2,000
O3JIHs32 M3 1,000,000& * 128 12,000
OZ2JId=ssl& &4dt==23 60,000& » 12& 720
OZ2JIH=s3 2 SUFHAAHE 22
180,000& * 123 2,160
O3JIHs32 SZNEdRE =
70,000& * 23] 140
OZF=233d =37% I3 600,0008 * 1228 7,200
206 M= Hl 1,720 1,720 0
01 =8l 1,720 1,720 0
O=ZJ& &f2el& bz 7
10,000& * 100% 1,000
Ox2E BUBAE 5% P
12,0003 * 3&Z = 2004 720
401 Al &I 28I 21,000 15,000 6,000
01 A& HI 21,000 15,000 6,000
OFZJE HE 5,000,000& * 14 5,000
OFZIIE BOME 2 P4
5,000,000& * 14! 5,000
OgxEEIE RAE=S 3,000,000& * 14 3,000
OZ&FZE HHaA RXE=
3,000,000 * 14 3,000
OSJH=E3& ANE RXE=>
5,000,000& = 14 5,000
HYR2IZH (MSAE 22| AFRA)(JIEHDIIE 301,095 294,518 6,577
el 2 47,697 47,604 93
ol 2| 47,697 47,604 93
101 14l 47,697 47,604 93
01 2= 47,697 47,604 93
O=l224 47,697
R e
8,930& * 6% * 36AI2t ~ 128 23,147
—sYunnay 71,7818 » 39 « 1142 24,550
Jl=234l 253,398 246,914 6,484
Jl23l 253,398 246,914 6,484
201 £B-2%H| 225,998 210,394 15,604
01 At 22l 23,472 22,268 1,204




2N

HFAIE 2l AR A

I HYSSJU(MSAE22AR4)(IIEH/IIE
chelr D123l
SA BB O () - MM - HES il
O=SAMEXN L 15,000& » 64 « 123 1,080
OS2 0AYI 6,000& * 64 * 6% » 123 2,592
Oditxg 100,000& * 12& 1,200
O27E T HFLYI 50,000& = 12& 600
OAL7 2 44| 3,270
— =S AMI| =2l 500,000& = 1CH 500
— T2y =2l 100,000& * 1CH * 50/100 50
— =AM EH 200,000& = 53| = 1CH 1,000
— T2l EY 200,000& = 53| = 1CH 1,000
—PC =¢cl 100,000& = 6CH * 20/100 120
— JIE =2ldl 50,000& = 12& 600
OJIE AFR2t2lHI 5,000& = 6Y ~ 123 360
Og - =&l 14,370
— 24 60,000& * 1% = 114 6,840
— =3 30,000& » 198 = 251 7,530
02 3322l 202,526 188, 126
OH3Ra ¥ RER3 150,000& * 12& 1,800
O&IILB(LErne) 12,200,000& = 12& 146,400
OXIIB(HorE") 900,000& = 12& 10,800
OXIRB(NHES) 45,0003 * 12 540
OXIILB(LEHL) 600,000& = 12& 7,200
OdJI&Hl EIIEA 1,500,000& * 13l 1,500
&ot+ER3 1,700,000& * 128 20,400
OAgotdE 3| 50,000& = 13l 50
Od&EI|=2l A3l 100,000& * 13l 100
OfEa&eX A3 36,000& * 13 36
OdMERE =S 800,000& * 23| 1,600
Odsith B&8& 100,000& * 13l 100
Os48IE =2l 10,000,000& * 14 10,000
OQIZt2E AN B3 500,000& * 43 2,000
202 oddl 22,080 22,080
01 = LH o4 1l 22,080 22,080
O Al 20,0003 = 6% = 12 ~ 123 17,280
O 22 ¢ bl 80,000& = 6% » 10 4,800
203 R =&l 3,240 3,240
02 A& H R =X 240 240
OF AL S Z= A 40,000& * 69 240
04 BENSSIHRF=LHI 3,000 3,000
ORA2EIRFAHI 250,000& = 12& 3,000
204 X2 FH| 1,200 1,200
01 HBZHRHFH 1,200 1,200
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100,000& » 1¥ » 128 1,200
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01 AL EFSHS 880 10,000 29,120
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